DAYS ONLINE COACHING FOR 2021 DAY,
DAY (12), 16/06/2021, WEDNESDAY

DO OB *

m2@gmail.com

NAME OF THE CANDIDATE (PLEASE ENTER YOUR FULL NAME IN CAPITAL *) *

M2

OF THE CANDIDATE *

HHEMIA v



PLEASE ENTER YOUR WHAT'S APP NUMBER (JOINED IN SAI EDN OCT KERALA *) *

555

@ald3(6813U3

WATCH THE ONLINE CLASSES AND AND NOTE DOWN IT IN DIARY DIARY DIARY

SENDING ANSWERS
https://youtu.be/eYWN-j5bl4U
https://youtu.be/xHS006DPmMJ0
https://youtu.be/NWXb7907850

1. 20% EloMMVeaU@IDI] (IBSlq fleenss * 1 Galo@F

1/2
1/3

1/4

@® /5

2. af) &MVl 1/4 @@IMAID)] * 1 Galo@F

10%
® 25%
50%

60%


https://www.google.com/url?q=https://youtu.be/eYWN-j5bl4U&sa=D&source=editors&ust=1634491224344000&usg=AOvVaw3xuz2C5G1JE_xoncVQsIkJ
https://www.google.com/url?q=https://youtu.be/xHSoo6DPmJ0&sa=D&source=editors&ust=1634491224345000&usg=AOvVaw16u7wMAIWHzw4yCSCdc8QE
https://www.google.com/url?q=https://youtu.be/NWXb79oZ850&sa=D&source=editors&ust=1634491224345000&usg=AOvVaw2sYd7wUT_k60Ugew3r5vfX

3. 28% BRI (IBSlaflene: *

@ o0.28
() o0.028
() 28
() 280

4. af)&M5(aImS 0.05 Lo@@IM@O] *

50%

500%

O O O

55%

5. 450 @3 28% + 280 @3 45% @rgpem *

() 126
() 262
() 162
@ 252

1 Gato@lag’

1 Gato@lag’

1 Gato@lag’



600 (adlead 6.16 2/3% - 180 aadileay 33 1/3% @ryem * 1 Ga@lag’

() 20
@ 40
() 60
() 80

7. 2 ag)0n®) 50 6 af)(@ V@AIMMAIENM? * 1 Gato@iaf’

® 4%
() 8%
() 16%
() 32%

8. 1/2 ag)m®) 1/3 ©F af)(@ YO@AIMMAIEN? * 1 Gato@ilof’

() 50%
() 120%
() 60%
@® 150%



9. What percentage of 6.5 litres is 130 ml * 1 point

10. What percentage of 2 matric tonnes is 40 quintal * 1 point

() 100%
() 150%
@® 200%
() 250%

11. Which is the greatest in 16 2/3%, 2/15 and 0.17%? * 1 point

() 162/3%
() 215
® 17%

() Allare equal



12. 7% of a number is 56.Then what is 25% of that number? * 1 point

125

O

150

175

200

@ O O

13. The difference between 25% and 45% of a number is 120. Then what is the number? * 1 point

@® 600
() 500
() 400
() 300

14. If a student gets 380 marks out of 500 in his annual exam.Then his percentage of 1 point
mark is? *

() 58%
63%

76%

O ® O

84%



15. When 42 is added 40% of a number itself is got.What is the number? * 1 point

40
50

60

16. If 15% of A is equal to 20% of B,then 25% of A is equal to what percentage of B? * 1 point

111/3
313/7

@® 331/3

133/7

17. A reduction of 20% in the price of wheat enables a person to buy 3.5 kg more wheat 1 point
for Rs. 770.The original price of wheat? *

35
45

65



18. Due to 25% increase in the price of sugar per kg; a person is able to purchase 20kg 1 point
less for Rs.400. What is the increased price of *

Rs.5

Rs.3

2.6

19. An inspector rejects 0.08% of the meters as defective. How many will be examining to 1 point
reject? *

2000
@® 2500
3000

3500

20. Difference of two numbers is 1660.If 7.5% of one number is 12.5% of the other 1 point
number. Find the two numbers? *

(® 4150,2490
3476,1276
4127,2653

3859,5428



AFTER SUBMITTING THE TEST, PLEASE CHECK YOUR PROVIDED EMAIL TO VIEW YOUR
SCORE AND RESPONSE SHEET. THANK YOU!!!

DM 9885860 Google MY(HSl4 B @RUIE:@]o e @ME).


https://www.google.com/forms/about/?utm_source=product&utm_medium=forms_logo&utm_campaign=forms

